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Multiplication Wheels

Multiply the numbers by the middle number.

Open in Acrobat
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Tell the Time in 24-Hour Format:
Writing the Time

Write the time shown on each clock.
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Tell the Time with Roman Numerals:
Writing the Time

Write the time shown on each clock.

215
Q% R





image9.png
Staff M- X Bedriet X | mm Kin MALM X JALM X | mm MALM . X M Mar x s ™ Shoppi X | = Order

& content.twinkl.co.uk/resourc - cation-an -problem:

Year 3 Multiplication and Division
Word Problems x3 x4 x8

How many wheels . 24 people travel to an Hanan is a keen archer.
would 9 tricycles have? airport in taxis. 4 people One day she shoots 5
travel in each taxi. How arrows. Each arrow
many taxis are used? scores an 8. What
is her total score?

J- Open in Acrobat

Three judgesaward 27 | 5. Cinema ticketsare £8. | 6. Cans of lemonade are

marks overall. They each Six people goto see a sold in packs of 4.

give the same score. What film. How much will Cherie wants 36 cans

score did they each give? they pay altogether? for a party. How many
packs should she bu;

Trish, Karenand Lagla | 8. A machine making . Acarpenter makes

share equally a packet mango pieces puts 8 tables. Some have 3

of nuts. There are 21 pieces in each snack legs and some have 4

nuts in the pack. How packet. The machine legs. He plans to make 5

many nuts do each get? makes 88 pieces in 1 tables with 3 legs, and 4
minute. How many tables with 4 legs. How
packets are filled many legs will he need?
every minute? AIRTRITR
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Problem Solving - open At

For each word problem, underline the key information, write down the calculations and work
out the answers. The problems may involve adding, subtracting, multiplying or dividing.

. On Sunday I spent 98 minutes on my art project and 35 minutes on my numeracy
homework. On Thursday evening I spent a total of 100 minutes on my homework. What is
the difference between the amount of homework I did on Sunday and Thursday evening?

. Dad drives a truck. Last week he drove 250 miles on Monday and 145 miles on Tuesday.
This week Dad drove 150 miles in total. What is the difference in mileage between this
week and last week?

. One watch costs 35p and I bought two. If T paid with a £5 note, how much change did
1 receive?

. I need to buy enough whiteboards for 95 students and there are 10 in a pack. When the
packs arrive, 4 whiteboards are damaged. How many whiteboards are undamaged?
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Add and Subtract Volume

For each pair of jugs, read the instruction and draw the new water level

Open in Acrobat

Example

Jug 2 contains Sml more than jug 1.
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Open in Acrobat

1. Jug 2 contains 10ml more than jug 1.

2. Jug 2 contains 10m! less than jug 1.

3. Jug 2 contains 20m! less than jug 1.
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Solving Two-Step Addition and Subtraction Word Problems 1 Open n Acroat

Calculation required
(Do brackets first!)
The cinema has 700 seats - 113 adults and 700 - (113 + 276) 311 empty seats
276 children come to see the film. How many

empty seats are there?

Question Method Answer

Dorothy is saving her money for a new bike
costing £286. If she has already saved £39
and is then given £59 for her birthday, how
‘much more does she need to save?

A study of 900 people found that 687 were
right handed, 174 were left handed and the
remainder were ambidextrous (could use
either hand). How many were ambidextrous?
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The crisp factory needs to make 875 bags an hour.
1f @ machine breaks down and the factory only
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The crisp factory needs to make 875 bags an hour.
1f @ machine breaks down and the factory only
makes 323 bags in one hour, how many does it
need to make in the next hour to catch up?

Dave earns £1485 a month as a bus driver and his
wife earns £1760 as a teacher. If Dave gets a pay
rise of £217 a month how much less than his wife
does he earn?

If William Shakespeare was born in 1564 and
lived to be 52 years old, how many years ago did
he die?
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Year 3 Equivalent Fractions Worksheets. pdf 176 )

Equivalent Fractions

These fractions are equivalent. The rectangles are the same. The amount shaded is
equivalent.

Write the shaded fraction for each rectangle. Cut each section out. Match the rectangles with
the equivalent amount shaded and stick each equivalent set together in your book.
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Equivalent Fractions

These fractions are equivalent. The rectangles are the same. The amount shaded is
equivalent.

y=s==M muaf

Shade the second shape to be equivalent to the first and write the equivalent fractions.

1
5
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Collecting and Presenting Data

30 children were asked to choose what their favourite activity for a free afternoon at home would
be. Here are their answers.

_/ Play g
~{ compter || Readi

qames! ;

1. Fill in the tally chart and then calculate the total of each response.

2. Draw a bar chart to present your data.

2129
Q% m B

o
@




image18.png
a ame x | | s x outl x | mm King x SON x | Em MAL x | Em MAL x | mm MAL X Kasi x (F x | = Sho x | mm ore x | — 650 x | B 64T x | B ks B0t x |18 x | Ever x @ malx | + =
(£} (£} 2 2 2 2 2

/bedri_000/AppData/Local/Temp/Temp_t2-m-4201-year. e -from-home-maths-activity-booklet ver_11.zi Lp Q f (']

C @ File | CyUs

Favourite Colour Bar Graph
and Tallying
Here is a tally chart to show the favourite colour of a group of children.

Number of Children

fomg [
R — ——

Complete the tally chart and bar charts.

=

Yellow  Blue  Purple  Gre:

Number of Pupils

Colour

p—
v
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Favourite Colour Bar Graph
and Tallying
Which colour was the second most favourite?
Which colours have a difference of 1 vote?
How many more children voted for red than they did blue?

How many children were asked about their favourite colour?

Write the colours in order from favourite to least favourite.

Which colours received over 5 votes?

Which colour was least favourite?
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Spin to Win

For each question, start from the position of the arrow and follow the directions to see which
prize you have won,

motorbike

}

holiday
AN
N

cauliflower

1. One half turn clockwise.
2. One quarter turn clockwise.
2. spin two right angles anticlockwise. 3. One three-quarter turn clockwise.

Prize prize

1. Spin one right angle clockwise.

mobile phone

T\
bicycle & radio
N

controlled car
wooden spoon

1. Spin a three-quarter turn anticlockwise. | 1. Spin one right angle clockwise.
2. Spin a half turn anticlockwise. 2. Spin a half turn anticlockwise.
3. Spin three right angles anticlockwise. 3. Spin a three-quarter turn clockwise.

Prize = Prize =

oy
@

s =
* 140772020
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bicycle

wooden spoon

1. Spin a three-quarter turn anticlockwise.

2. Spin a half turn anticlockwise.

3. Spin three right angles anticlockwise.
Prize =

caravan

lettuce

jewellery

1. Spin two three-quarter turns clockwise.
2. Spin four right angles anticlockwise.

Prize =

from-home-maths-activity-pack ver 2.

x | = ore 65 wtx | B2

pin-to-win-activity-sheet.pdf

2/4

radio
controlled car

1. Spin one right angle clockwise.
2. Spin a half turn anticlockwise.
3. Spin a three-quarter turn clockwise.
Prize =

football
boots

tickets

. Spin one full turn clockwise.

. Spin one half turn anticlockwise.

. Spin three right angles clockwise.

. Spin one quarter turn anticlockwise.

@~
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1) Fillin the table with the name of the 3D
shape and the number of faces, edges
and vertices:

Number | Number | Number
of

Vertices

2) Circle the shapes which have 5 or more vertices

cube  triangular prism  square-based
pyramid.

1) Tick the statements that are true
and explain your choices:

The faces of a pyramid
arealwaysall triangles.

A sphere has zero edges. .

A prism always has a rectangular face. ()

2) A3D shape has a lat, circular face.
What shape could it be?

1) Which of these shapes could be the
odd one out? Explain your answer.

x 65 wrx | 3

7.2ip/Vertical%2!

1) Fillin the table with the name of the 30
shape and the number of faces, edges
and vertices:

2) Circle the shapes which have 5 or more vertices:

cube triangular prism  square-based  cone
pyramid

1) Tick the statements that are true
and explain your choices:

The faces of a pyramid
are alwaysall triangles.

A sphere has zero edges. .

A prism always has a rectangular face. ()

2) A3D shape has aflat, circular face.
What shape could it be?

1) Which of these shapes could be the
odd one out? Explain your answer

@~
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2) Circle the shapes which have 5 or more vertices: 2) Circle the shapes which have 5 or more vertices

cube triangular prism  square-based  cone cube triangular prism  square-based  cone
pyramid pyramid

1) Tick the statements that are true 1) Tick the statements that are true
and explain your choices: and explain your choices:

The faces of a pyramid The faces of a pyramid
arealways all triangles. arealwaysall triangles

A sphere has zero edges . A sphere has zero edges .

A prism always has a rectangular face. () A prism always has a rectangular face. ()

2) A3D shape has aflat, circular face. 2) A3D shape has a flat, circular face.
What shape could it be? What shape could it be?

1) Which of these shapes could be the 1) Which of these shapes could be the
odd one out? Explain your answer. odd one out? Explain your answer.

m A m W A

2) Add one shape name to each part of the diagram: 2) Add one shape name to each part of the diagram:

Has at least one ‘Has more than Has at least one Has more than
rectangular face 6 vertices rectangular face 6 vertices
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c Adding Two 3-Digit Numbers - With Carrying 0
LO: to use column addition
Calculate the answer to the following: B @iz
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Addition and Subtraction Using °

Worded Calculations
LO: to solve word problems using addition and subtraction.

Open in Acrobat

Solve the following problems:

1) What number is thirty-five more than two hundred and fifty-nine?
What number is 451 subtract 246?
How much larger is 817 than 662?

What number is three hundred and six more than four hundred and
nineteen?

What number is the difference between two hundred and sixteen and
three hundred and nine?

Add five hundred and ninety-three and three hundred and sixty-eight.

What number is four hundred and sixty-five less than seven hundred
and twelve?

Increase £5.73 by £6.45.

What number is the sum of six hundred and forty and five hundred
and seventy-six?

10) Decrease 790 by 213.
11) Add together £2.58, £6.27 and £7.03.

What number is two hundred and fourteen minus one hundred and
seventeen?

Take £271 away from £604.
If I increase a number by 382 and get 901, what number did I start with?

Add together 219 and 734, then subtract 486.

Challenge
Use the digits 1 to 9 to make three numbers that add up to 900.

2102
Q% B





image3.png
@ Ame x | | Swf x | @3 Out x | Em King X | Em SON x | mm MAL x | =B MAL X | =8 MAL X | @ K == Shor x | mm Orac x

C @ contenttwinklco.uk 41/T-N ar-2-Properti

TN-2677-Year-2-Properties-Of-2D-Shapes-Activity-Sheets.pdf

Properties of 2D Shapes

Write down the properties of the shapes.

- Open in Acrobat

A triangle has __ sides

A triangle has __ comers.

A rectangle has ___ sides.

A rectangle has __ corners.

A square has __ sides.

A square has corners

A quadrilateral has ___ sides.

A quadrilateral has ___ corners.
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- Open in Acrobat

Properties of 2D Shapes

Write down the properties of the shapes.

What are the properties of a hexagon?

What are the properties of an octagon?

What are the properties of a pentagon?

What are the properties of a circle?
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Subtracting 3-Digit Numbers from 3-Digit °
Numbers - With Exchanging
LO: to use column subtraction
Calculate the answer to the following:

Open in Acrobat
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